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Please make sure that the printed pages in this question paper are 16 in number
and it contains 35 questions.

o F97-07 7 §a9 G907 R4 T e T # O I @ g% 7 a

The Code No. on the top of the question paper should be written by the candidate
on the front page of the answer-book.

o FYA JIT T T IOGT & B G Yocl, T H B R G

Before beginning to answer a question, its Serial Number must be written.
o GUTgRTE % & 7 ard g/ 7 T 631

Don't leave blank page/pages in your answer-book.

o« STYRTH 3 SR #y o e T Frerl o sravaEdger & fd it R g S
e
Except anstwer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

o Tl STgT B To §eF-UA G o@eq Ridh AT To B SRR Gv-v W o T 5
B ot d5ias g9 & aad w Rl 51T & Rarr 7 an
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
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o JW W 3 G 3 4 @ 7 ghRe a & 5 e g 9 W6 g & T &
T # g o ar el T arm
Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after
examination,

a5
General Instructions :

2629

(3

(it)

(1ii)

(i)

vy

T 7o i 8

A;I questions are compulsory.

5% 597 3 1% D @ T 7 8

Marks of each question are indicated against it.

77 FF 1§ 14 7% TGS 797 15 § 18 7% AwET-A JHT & T &l
% 797 | o 1 & forrd det Fv o gyl 4 ke el

Question Nos. 1 to 14 are objective type questions and 15 to 18 are

Assertion-Reason type questions, carrying 1 mark each. Candidate have to

write the correct answer in their answer-book.

957 FE 19 § 25 T A-TEAIAE 597 81 FAF 97 2 B H &1 TAF I F
I TTHT 30 9] 7 Ao

Question Nos. 19 to 25 are very short answer type questions carrying

2 marks each. Answer these in about 30 words each.

757 7% 26 § 30 7% TITIEE F97 81 9% JT 3 o 7 & GOF 597 I I
T 40 = 7 G

Question Nos. 26 to 30 are short answer type questions carrying 3 marks

each. Answer these in about 40 words each.
797 FHE 31 0F 32 JOF 4-4 oFH & &

Question Nos. 31 and 32 are 4 marks each.
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(vii) 57 5% 33 1 38 7% & G ger B IR 97 5 ot & & W g a7

T T 70 sr=) F vy
Question Nos. 33 to 35 qre long answer type questions carrying 5 marks
each. Answer these in about 70 words each.

(vit) W57 § g7 & & B Rawy 79 & T g5 g7 7 SaRE T T B
& @#Wﬁﬁﬁmﬁﬁﬁﬁwa’w%

There is no overall choice. However, internal choice is given in some

questions. You have to attempt only one of the given choice in such

questions.
(s )
(Objective Type Questions)
1. 2.005 7 wrfe o ) den 1
A (B) &
(C) I (D) o

Number of significant figures in 2.005 is :
(A) Two (B) Three
(C) Four (D) Infinite

2. Mg WA A R o s de § 7 1

A) 1 (B) 2
(C) 3 (D) 4
How many unpaired clectrons are present in Nitrogen atom ?
(A) 1 ) (B) 2
C) 3 (D) 4

2629 P.T.O.
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3. 9,17, 35, 53, 85 T FHi A TR aEE ;- ]
(A) T . (B) = W
(C) Uwhell 7Y e (D) T T
The elements with atomic Number 9, 17, 35, 53, 85 are all : -
(A) Halogen's - (B) Noble gas
(C) Alkali Earth metal (D) Transition metal
4, F-u1 A . faya et 74 R ? 1
(A) CO» (B) BF
(C) H0 | : (D) CClh
Which compound do not show zero dipole moment ?
(A) CO2 . . (B) BF;
(C) H0 ' (D) CCL
5. A/9d § H,0 % ReR Feqq 4 8 7 1
(A) 44 (B) 18
() 17 | (D) 60
What is the molar mass of H20 in gm/mol ?
(A) 44 (B) 18
(C) 17 (D) 60
6. & TF H Fdl TN A B oy B, & bR AR R oy
(A) fwpes | (B) Israinet
(C) TemE | © (D) i e
When water is added 10 quick lime the reaction is :
(A) Explosive : (B) Endothermic
(C) Exothermic (D) Photochemical

2629
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(5)
KCIOs § ClL %t Slfedietor sy & 7

(A) +5 (B) +3

(C) +1 (D) -1

The oxidation number of Clin KCIO;s is :

(A) +5 (B) +3

(C) +1 (D) -1

TR Gt B e g S e o S

&) S R Y (B) W Ry A

(C) oz o Rify (D) wfe fofy
Molecular mass of volatile substance is determined by :
(A)~ Kjeldahl's method (B) Duma's method
(9{, Victor Mayer's mefhod (D) Leibig's method
SO % FoH PR @ R wg aar

(A, AU=g+w (B) AU=gx w

(C) AU=-q-w | (D) AU=w-gq
Mathematical statement of first law of thermodynamics is ;
(A) AU=q+w (B) AU=¢gxw

(C) AU=-g-w (D) AU=w-gq

Waﬁﬁﬁm(sigma]ﬂméa‘ﬂ@ﬁ%?

(&) 12833n (B) 1189 2n
(C) 1289 1n (D) 138T3x«
How many Sigma and Pi bond arc present in the Benzenc ?
(A) 1268& 3= B) 115& 27
(C) 128& 1= (D) 1338& 3=

2629
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13.
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(C) Formyl chioride

| (6)
11, DT T T S T A D
W s B p
(C) d (D) f
Which orbital is dumb-bell shaped ?
W s | (B).~p
©) d o f

CH{CHO®I IUPAC ¥ 21T :

(8)="Aceteldehyde (B) Methanal

(D). Ethanal
The TUPAC name of CHyCHO :

(A) Aceteldehyde (B) Methanal

(C) Formyl chloride (D) Ethanal

AR R & 7@ e A

(A) 6.022 x 102 (B) 6.022 x 1026

(C) 6.022 x 10% (D) 6.022 x 1022

The correct value of Avogadro s constant will be :
(A) € 6,022 x 102

(B) 6.022 x 10%
(C) 6.022 x 10%

(D) 6.022 x 1022

R G (Reewtt) ¥ R o] B sm S A ¥ 2
@A) 12

(B) 24
C) 6 (D) 3
How many molecule of water of crystalization in Potash Alum
(A) 12 (B) 24
€ 6 @) 3

2629 °
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le : Feered S (Jo Ho 15, 16, 17 w 18) & A3 T R T ¥ o (A) AW
wmpﬁmﬁﬂmawaﬁWWﬁﬁqﬁazﬁﬂ—wwﬁmaﬁﬁ
el S A R T R (w), (B), (€)@ (D) F § g R
A (A) & (R) A 7@ ¥ R (R), (o) B w8 e ¥
(B) (&) T (R) A 7 ¥ R (R), (A) F 78 avew 78 ¥
(€ (A) ¥¥ & I (R) g B

(D) (A) 576 § A (R) w9 B

In the following questions (Q. Nos. 15, 16, 17 & 18) two statements are given for
cach. Assertion (A) and Reason (R). Study both the statement carefully and
decide which answer option is correct and write the correct answer by selecting
the given option (A), (B), (C) & (D) :

(A) Both (A) and (R) are true and (R) is correct explanation of (A).

(B) Both (A) and (R) are true and (R) is not the correct explanation of (A).

(C) (A) is truc but (R) is false.

(D) (A) is falsc but (R) is true.

15. SR (A): & S 3
| Zrys) + CuSOsaq) — ZnSOsgq + Cuyg
i b oo ¥ Qf 98w ol & o B

FR (R) wmmﬁwmﬁmmmﬁaam%
T Y goeE @t Sl & ST B

Assertion (A) : In a reaction

Zn[s] + CuSO4(aq) 4 ZnSO(I[aq] + CU(S]

Zn is a reductant but itself get oxidized.

Reason (R): In a Redox reaction oxidant is reduced by accepting clectrons

~and Reductant is oxidized by loosing electrons.

2629 P.T.O.
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19,

20.
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(8)

FRE (A) I TF T 3| '1 :
HRT (R) : WWWQWWW%WWELTW%W@%%I

Assertion (A) : Graphite is an Element.

Reason (R): Elcment is the purc form of substance containing same kind of
atoms,

e () o R T g & WY w@ H F9YD 96 ol 1

F (R) : TrETAH a0 Afad AR K ghs & dY 9ed ol

Assertion (A) : Boiling point of alkanes increase with increase in molecular
weight,

Reason (R): Vander Waals's force increase with increase in molecular weight.

B (A) YW eRgeET THEhG w0 ¥ F9 B e 1

FR (R) Tl FEd Wi & W T @ & A B
Assertion (A) : Saturated hydrocarbon are chemically less reactive.

Reason (R): All Isomeric paraffins have same parent name.

(- i)
(Very Short Answer Type Questions)
(@) TERT T ¥ 3 Rt i A 7

How many total electrons are present in the

(b) iR WA F i R R

Write Electronic Configuration of chromium atom

Nitrate Iop ?

BFSﬁmqa%amm%ﬁasw%mﬁmm%
m%n@ﬁ%?ﬁ%aﬁaﬁmmwww%?

BF; does not have proton but still acts as an acid and reacts mth

NH, , why is it .-
so ? What type of bond is formed between two ? :

2629
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(9). ' 2629
et Wi s & o s By ar wgfir BT ; 5
Cra0;" (ag + SOyg) = Cr¥ (g + SO, g (371)

Balance the following redox reaction by Ion Electron method

2._
€10 (ag + S0y = Cr" (g + SO 4 (Acidic)

AT T (CH,),C* CHyCH," & &t fet ¥ ok cnt,* wad o Rew 3 7 2

Explain why (CH,),C* morg\ stable than CH;CH," and CH,' is least stable
cation,?

(@) 3 W B & pH=7 ¥, & SwR POH W s A 2
If pH of a solution is 7, calculate its POH value.

(b) pHH T &N 4R 7 A FB F CH,COONH, Fiea & et wd
What happens to the pH, if a few drops of acid are added to CH,COONH,

solution ?

IR T SoIITS MO % 7w Bhamafy R | 2

What is Electrophillic substitution of Benzene ? Show its mechanism.
; T
OR
HEHCRH AR FET & oG FR AR

Distinguish between, Carbocation and Carbanion.

t
(a) AU & oG frEw T Snghs omad T F oma ot ¥ ? 1
" What is the basic difference in Mendeleef's Periodic Law and Modern

Periodic Law ?

(b) wm%%w@m#wwmm%mﬁsmﬂmw
7 7 A o _ 1
What is the reason that first Ionization energy of Nitrogen is higher while

that of oxygen is lower ?

P.T.O.
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27,
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(b)

(c)

Th T X" H T BE 13 0

(10) 2629
(T )
(Short Answer Type Questions)

FRAEEE WA @ A T a9 200°F 8, @ Afveeg woge Rm e et 7

A mecasured temperature on Farenheit scale is 200°F. What will this
reading be on Celsius ?

34 Ui # Ao @ 2 Rl 5.85 M NaClls) ¥R 500 fieh @ 7 1

What will be the molarity of a solution which contain 5.85 gram ol NaCl(s)
per S00 ml ?

onfegh g A srpEa B9 A = A } 7 1

What is the relation between Molecular formula and cmpirical formula ?

An element "X" has atomic number 13 -

()

(b)

(<)

(a)

"X ® et e

Write electronic configuration of “X".
3 T A 7 R x i Y
State the group to which "X" belongs ?
T X' T U & Ay ?

[s "X" a metal or non-metal ?

qawﬁsmﬂmrgm@mﬁmmmﬁaﬁw @7394{;%
MWMW%M%WWW?&WW%%?

2
In a process, 701 Joule of Heat i

Is absorbed by a system and 394 J of work
is done by the svstem What is the change in

Internal cnergy for the
pracess ?
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What will be the enthalpy of all elements in their standard state ?
OR

Wﬁ*ﬂ_%mﬁgwmmm%ﬁﬁ@m%w—maﬁﬁiﬁaﬁﬁ

qﬁaﬁqﬁm%aﬁuﬁamﬁwmﬁmﬁmmama
M F A S e ¥

Expansion of the gas in the vacuum is called free expansion, calculate the
work donc as well as the change in the Internal energy if 1 litre of the ideal
gas expands isothermally into a vacuum untill the total volume is 5 litres ?

29. TF FEMw ANE A 69% FEA AR 4.8% EeieH o B Y @@ offFdeH ¥ oW =9
AR F 0.20 TW T & A 3, T ARG €O, IR KO 3 FEH T B 3

An organic compound contains 69% carbon and 4.8% hydrogen, the remainder

being oxygen, calculate the masses of CO; and Ho0 produced when 0.20 gram of
this compound is subjected to complete combustion.

HYgqT
OR

S, T & WY R S I RS T 9 ) e

Explain the term Inductive effect and Electromeric effect with suitable examples. -

30. (a) W @ Refr & Rt b & 0 Ke T ® ?

2629

1%
2505 * Oy = 250y

[SO,] = 0.6 M [Op] = 0.82 T [SO4) = 1.90_M

What is Kc for the reaction in s'Eate of Equilibrium ?
250y + Outg = 250319

[SO,] = 0.6 M [Oy] = 0.82 and [SO;] = 1.90 M

(b) e RfEd q9 AR §W @9 10° TEE T RN & ordid Ty & o 9

R & 40% o B e @ KA Kp 719 AT L = 20 1%
At a certain temperature and total pressure of 10° Pa. lodine contains 40%
by volume of Iﬂatorns. Lig = 214 calculate Kp, for the equilibrium.

P.T.O.
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31, mmmmmmw%wwmmnﬁww@ﬂw

T TR TR A A BT SRR R Rieed @ o @ T Sl o

W ¥ A o B R, T W W oaw 0 W oad &y Py w o

§ (40 =AU + AW] & 4Q & T o1 ¥ R AW sl @ e T FE R @@ AU

o St Rl 3 AQ W AW SR N § Mo gmEN ¥ A M AW TR W
R T B A R AQ - W TR W PRk T8 & ¥

(a) TSGR F Gud Fow fhes @ | defg R 7

1
(b) -8 TG GHHE T & AQ, AW, AQ- AW ? 1
(c) HomeR T A ¥ ? 1
(d) SR e e & 7 1

The first law of thermodynamics is the general law of conscervation of encrgy
applied to any system in which energy transfer from or to sourroundings is
taken into account. It states that energy supplied to the system goes in partly (o

increase the internal energy of the system and the rest in work on the

environment. Mathematically |[AQ = AU + AW

where AQ is the heat supplied to
the system, AW is the work done by the system and AU is the change in Internal

energy of the sysiem. AQ and AW depends on the path taken to go from initial to
final state, but the combination AQ- Wis path independent.

(a) First law of thermodynamics is concerned with the conservation of .......... |
(b) Which is not path function AQ, AW, AQ- AW?
(c) What is system ?

(d) Thermodynamics is the study of ............... .

2629
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.',-"m M ;:ﬂam;li' ;&'ﬂﬂ M R RN ez e o s A g e e (et
;ﬁ; | Mo R e Feso, Oty Hyso, fraar ol s s

el Rt o g 3 oy wg & s gR @ w g e @ dan e
& B Bt el 8 e AR

Three students, Vi : -
students, Vishal, Vaibhav and Vikns were determining the element

present in given organic compornd by Lassaigne Test, Vaibhav added FeSO, and
dil H,80, to Na - extract and observed Prussinn blue colour, Vishal was keeping

some pieces of sodium metal in his pocket, Vikas asked him not to do so.
Answer the ollowing questions :

() HRF A A Ao @ @ ™ g

1
Name the clement present in organic compound,

(b) T & /R v R 1
Write the test for chlorine,

(c) ¥efm e R 1
‘Write the value associated,

d) T TReTE W S e L

What is the nature of Lassaigne extract ?
gdr

OR
R AfE & JUPAC T SARY :

0]
|
@ o NN

" )\/\(\ o 1

() CLCHCH,OH
(d) CH,CH,CH,CHO |

5 - P.T.O.
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(a)

(b)
(c)
(d)

2629

(14)
Give the IUPAC names of the following compounds :
i

Cl 2

CL,CHCH,OH

CH,CH,CH,CHO

(S ST )
(Long Answer Type Questions)
% BeM & Il B T BN : 2

(b)

(a)

(b)

(c)

Calculate the energy of each photons which :
() WHN & FTEY R dERT 3 x 10'° Hz B

Correspond to light of frequency 3 x 10'° Hz.
i) frae o= 0.50 A @

Have wavelength of 0.50 A.
4000 Pm GCReA a1t SIS % I 1 HEA RN Y M 1 oW Il TN w3
What is thc number of photons of light with wavelength 4000 Pm which
provide 1 Joule of energy ? }

7T

OR
ek e A R e A g dom a7 o
Total number of orbitals associated with third shell will be ...vvvvovvvein. .
P ol T AR R e R 1
Orbital angular momentum depends on ...,
4d ofieet & R arf Az & d& e, Bl 1

Number of angular nodes for 4d orbital is ................. .



(d) 3paﬁm%ﬁﬁ?&ua%fﬁﬁw

(€)

- 34.

22

@)

(b)

()

(a)

(b)

(15) 2629

The number of radial nodes for 3p orbital is

||||||||||||||||||

4d, 41, Ss, Sp ¥ ¥ Rew oiffew 2 ot TR o O 7 1

Which of the orbital has lowest cnergy among 4d, 4f, Ss, Sp ?

W-WGTN?EWE‘WCQWNQO?WWI 1
Which is more polar CO, or N,O ? Give reason.
W Yepreet Oe B W o e @ PRE Y ) 7

Why ethyl alcohol completely miscible with water ?

(VSEPR) féT & e farg a7 § 2 3

What arc the main "postulates of v

(VSEPR) theory ?

alence shell electron pair repulsion

e

OR

ﬁmﬁf@awﬁtﬁﬁaﬁaﬁuwﬁwweﬂwnﬁ%m&ﬁaﬁim%wm
T % Feehg o @ &\ #R 2 0, 0,', 0,

Compare relative stability of the following species and indicate their

magnetic propertics on the basis of Molecular Orbital Theory : 0,, 0,, O,

T CO, ¥R H,0 B o ¥ 11,0 §Y F SR g5t d Y @y o, 4
ST e B B faggg omget & AR W WY

Although CO, and H,0 arc triatomic molecule the shape of H 20 molecule i

bent whilc that of CO, is linear, explain on the basis of dipole moment.

P.T.0,
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35. = @t Wl arem i

Explain in brief
(@) e
Wurtz Reaction
(b) ARSHE P fram
Markovnikoff Rule
(c) wISH T THHFH
Fredal Craft Reaction (Alkylation) |
(d) TR B R o R qwee A A @ g A

Suggest a roulc for the preparation of the Nitrobenzene starting from
Acetylenc.

(€) Wamﬁmm?

How will you get Bromobenzene from Benzene ?

2629



